. Date 2005/12/25
17JT6A RCA No.1 Esqg: 75V
17JT6A RCA No. 1 X S0|V/DIV
X: 50V/div Y: 40mA/div Y 40[mA/DIV
Eg: 2Vstep Esg:75V Egl 2|Vstep
Esg 75|V
Eh 16.74|V
Ih 459|mA
Date 2005/12/25
17JT6A RCA No. 1 X 50[V/DIV
X: 50V/div Y: 40mA/div Y 40[mA/DIV
= Esq 100[V
Eh 16.74|V
Ih 459|mA
Date 2005/12/25
17JT6A RCA No. 1 X 50|V/DIV
X: 50V/div Y: 80mA/div Y 80/mA/DIV
Eg: 4Vstep Esg:125V Egl 4|Vstep
Esg 125|V
Eh 16.74|V
Ih 459|mA




17JT6A RCA No.l1 Esg:150V | ™ e

17JT6A RCA No. 1 X 50|V/DIV
X: 50V/div Y: 80mA/div Y 80|mA/DIV
Eg: 4Vstep Esg:150V Egl 4|Vstep
—
g ——— Esg 150[V
Eh 16.74|V
lh 459|mA
Date 2005/12/25
17JT6A RCA No. 1 X 50|V/DIV
X: 50V/div Y: 40mA/div Y 40{mA/DIV
Eg:15Vstep Egl 15(Vstep
Esg - \
Eh 16.74|V
lh 459|mA
14
/ / 7 4
/ / / / / 7 4
’ - e
A = Sl = o
Date 2005/12/25
17JT6A RCA No. 2 X 50|V/DIV
X: BOV/div Y: 40mA/div Y 40{mA/DIV
Eg: 4Vstep Esg:100V Egl 4{Vstep
! Esg 100{V
Eh 16.9|1V
lh 462|mA




17JT6A RCA No.2 Esg:150V | ™ e

X 50|V/DIV
17JT6A RCA No. 2
X: 50V/div Y: 80mA/div Y 80[mA/DIV
Eg: 4Vstep Esg:150V Egl 4{Vstep
Esg 150{Vv
Eh 16.9|V
lh 462|mA
Date 2005/12/25
17JT6A RCA No. 2 X 50|V/DIV
X: 50V/div Y: 40mA/div Y 40{mA/DIV
Eg:15Vstep Egl 15|Vstep
Esg - \
Eh 16.9|1V
lh 462|mA




